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• Guess the Wordle in 6 tries

— Each guess must be a valid 5-letter 

word

— Color of tiles will change to show how 

close your guess was to the word

Wordle: How to Play 



• Try to solve Wordle with the least attempts

• Goal: Find the answer within 5 attempts

• After training -> Find it within 3-4 attempts

Wordle Solver 



Overall Process of Final Project



Dataset
Training Dataset

Subset of possible 
5-letter words            
(2,315 words)

Testing Dataset
Previous Wordle 
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(868 words)



• Bayesian Model:

— Statistical model

— Assign probabilities based on guess accuracy

— Make another guess based on probabilities

Machine Learning Method

Training Phase
● Random start word
● Record attempts
● Set size = 1000

Testing Phase
● Use best start word
● Record attempts
● Set size = 500

Choose Best Start Word
● Attempt < 3
● Scoring based on 

letter frequency



Training / Testing 

Phase

Letter Frequency 

Scoring



• Average attempts during training: 4.09

• Average attempts during testing: 3.87

Results







• Lower the average number of attempts to 3-4 attempts

• Trying different ML algorithms

Future Work



Thank you!


